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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

MS:  TE UGS ST At (200) 3FehT 1€ TS THH AR (4) T & | AT bl 38 THIed W91 o 3T
37T 3t T o Feem o STER ST ¢ |
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Note :

e :

SECTION -1
gg-1

This section consists of two essay type questions of twenty (20) marks each, to be
answered in about five hundred (500) words each. (2 x 20 = 40 marks)

TG TS § S G-s19 37 o &1 (e-uTcas U9 & | Ucdeh ol STR o9 Uil | (500) =i |
I € | (2 x 20 = 40 37F)

What reforms would you suggest in Indian Labour Legislations to-day in the context
of ongoing globalization in India ?
3TTST ATSISRROT & R H YR o 97 FHIAT H 5hd TR o TR o [eIT 319 g <7t ?

OR / stgat
It is said that, if a management considers unions as a problem it avoids them and if it
considers them as a part of the solution it consults them and seeks their co-operation.
What can management and unions do together or independently to ensure fairness and
build trust ?
Tg el ST & T ST Ue AosX TH 1 Ueh QU@ & &0 H 3@l § Al SHHT SewhR el
€ | STET Ve TSy WY ol WHET WHIHM o Ush W T § ol qoigy §Y & a1y foer
TormTeT ReaT & AT STehT TEANT a1 € 17 Uee 3R THeh 99 Ueh a1y et o 91 &= &9 9
T R Tohel & STEE 3T TR elid &1 3TR Ush-ga o S fovard <Rl ST ST ek |

J-5510
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“The purpose of HR is to create an organization that ensures employee’s pride to be
members in the organization, shareholders confidence to invest in the organization
and customer’s delight in the products and services of the organization” — Justify the
statement and explain how HR strategy can be aligned with corporate strategy in
order to achieve the aforesaid purpose.

“T 3R T 32¥F & — U UM T Sl YT FIAT STl FHART FH FIAT TR hl ST THH
| STET YRR oy fovam o ey U et oY ekl & ST STaeh Seas e Qe ST TTeeh-
TESTS & 1”7 39 e i Gt i §U I T 1o TF 3R LISt i hd TehR TN Thest
T[T ST ST Tl & 2

OR / &1gar
Social dialogue in India currently is based on social exclusion. How can the social
base of social dialogue be widened ?
31T WA | WIS FATE IHITTh SRl T STERT & | WHISR HolTg o TSR 3R

1 fore WehR ferega foham ST |ehe € 2
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Note :

e :

J-5510

SECTION -1I
LCER | |
This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three

questions from it. Each question carries fifteen (15) marks and is to be answered in
about three hundred (300) words. (3 X 15 = 45 marks)

W @ H T Ufsw T / oRmen ¥ /i (3) WA € | a1l o A U Ufswd
THTS / TOrRISIRTT Sh1 TR 3T o AT WAl 1 STR ST € | T We Uee (15) SRl 1 € o
IR TR ST i | (300) 51 F 3T ® | (3 % 15 = 45 3i®)

Elective - 1
famea - 1
What do you think will be the future of Industrial Relations in India ?
3T TaR & R o ST Trawe o1 9 s g 2

What do you mean by Labour Management Co-operation ? How can this be
achieved ?

-V FEANT § 31T 1 GHA € 7 THeh! o Wieh fohdl ST FeheTT & 2

Discuss the provisions of Code of Discipline. Are they effective ?
SFIME GiEaT 3 WE sht =l &Y | o o Tfreretied & 2
OR / &1gar
Elective — I1
fawea - 11

What are the provisions of voluntary retirement scheme adopted in Indian Public
Sector ?

IR ¥ Ufseteh YR ST H o1 Ufeseh Wal-FHaid AT o UM sl =] < |

What are the challenges of International HRM ? How training can overcome these
challenges ?

SRISET TS 3R UH & &1 H HH-hi G AT & 2 UieIor §RT 3% el oo g2 fhal ST
Thare ?

“Organizational Development is about unleashing human spirit and human
capabilities at the workplace.” Discuss the future of OD in light of this statement.

“HTIST Tt (3T ) 1 T 3299 € hIF T W AHE Fgi 77 HFG 8T 1 ST 7 39
Y I L § T gU 31 St & AT ot =<l Y |
OR / stgat
Elective — 11T
famew - 111
“Indian Labour Legislations are progressive but ineffective.” — Comment.

“qRA § ST A VRIS o &, TR TR & 1 39 e W femolt &Y |

What are the reasons for implementation of a very small number of ILO conventions
and recommendations by the Indian Government ? How does it affect ILO’s influence
on the growth of labour legislations in India ?

IRA 5N TE.UA.3T. o Sga H Iawl qon fawRel s or] s o 9o SH | HRoT
STRETA TAATE ST & 2 TR TehTR ehT TR | STH ST o [oehId TR ST WTe el & 2
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5. There is an urgent need to examine the working of State and Central Implementation
machinery in India. Examine the suggestions made by the 1% and 2" National
Commission on Labour in this regard.

qRA | 37T ST AT Sl g AT I AT GRN-RI ST ST HIAT g STIvaeh &l 7T
T | 3T T v o7 fEid IS ST START o Gl bl =l it |
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SECTION - 111

g - Il
Note : This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. ' . (9 x 10 = 90 Marks)
MS: T TS T TE-29 (10-10) 37h & =AY (9) U7 & | Ucieh U9 oh1 ITR AT T (50) sl o
T | (9 x 10 = 90 i)
6. What are the essential features of an effective plan ?
TS YHTERNTEAT FST Sl Shi-hi- §f fareisamd & 2
7. What is manpower planning ? What are its steps ?

HTT-gIferT ST o1 & 2 36eh Shi-ohi ¥ TRO1 & ?

J-5510 17 P.T.O.



8. Explain Edgar Schein’s career planning model.
TSR ¥ 51T 58 M0 ‘SRR @i wiget st == &Y |

9. Differentiate between management and leadership.
T AT e 3 Sre SRR i |
10. Discuss Dunlop’s industrial relations system.

SOTT §RT S T 3ok T Yool bl =il e |

J-5510 18



11. What are the types of Trade Unions in India ?
TRA T ToI5R el o F-19= UehR o & 2

12. Distinguish between conventions and recommendations of ILO.

3TE.UA. 37, & ATTIHAT 9T FHwIREN & g 3=k 5a |

J-5510 19 P.T.O.



13. Explain any two theories of Labour Welfare.

S THoT0T o Toheel SF TGl bl =<l ohY |

14. What are the determinants of labour force participation rate in a country ?

Terall Tt 27 5 o Sk TEHITT-aX i fT4iRa e ot S-S & el 81 & 7

J-5510 20
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SECTION -1V
gg -1V
This section contains five (5) questions of five (5) marks each based on the following

passage. Each question should be answered in about thirty (30) words.
(5 X 5 = 25 marks)

39 W H MEfigd qese T U Ui (5) U9 € | Tedeh U9 1 ST’ o9 @i (30)
I3t B SOt & | ek ue Ui (5) 3R HIE | (5 x 5 = 25 )

The problem of industrial peace is common to almost all the industrially developed
countries of the world and even since industrialisation began, each country is making
efforts to find out its solution. The ways and methods in solving this problem differ
from country to country depending upon its economic, social and political
environment. Still the problem has not been solved completely. Industrial disputes
still arise and will continue to arise in future also. Maintenance of satisfactory
industrial relations, therefore, forms an important plank in the labour policy of every
developed or developing country. It is almost a precondition for every country’s
progress. Thus, the major prerequisite for industrial progress is the prevalence of
industrial peace — a suitable climate in which the industries can thrive. Although,
industrial peace is one of the familiar terms in labour terminology and its concept is
clear, yet its definition is somewhat difficult. Industrial peace broadly implies the
absence of industrial unrest or the existence of a harmonious relationship or
co-operation between labour and capital in industry. Industrial unrest is generally the
result of worker’s discontent in some form or the another. The factors which give rise
to such discontent among the workers are mainly economic and partly also social,
psychological and even political in character. The industrial unrest is said to have
taken an organized form when the work-people make a common cause of their
grievances against the employers and may be manifested through strike, organized
demonstrations, picketing etc. Industrial peace, however, is not merely a negative
concept signifying the absence of industrial unrest — the reconciling of hostile forces
in order to avoid ruinous strife, but it also signifies active presence of harmonious and
good industrial relations generating amity and goodwill between the parties in an
industry — a condition which is both the cause and effect of fruitful co-operation.
Obviously, therefore, industrial peace in the full and positive sense of the term is not
the same as absence of industrial tension or unrest; it is indicative of the state of
relationship between organized bodies of workers and employers/managements where
a positive, highly purposeful, problem solving and cordial approach to the various
human situations in the industry is developed.

forea & sireifiTes ®9 F foshlaa ur: eft Son § Sf=hfites wiifd st Qo Uk T &, 791 59 d
SETRIUT YRET g3 A & Tedeh 97 T9ehT THEE g & o0 YR § | Taited 997 o
3TTTER, TR T ISTHiTeeh UREST & SR W G~ 391 | 38 THe & GH1EH &q S0
ST oot dlieh aer fafe iy € 1 aenfty 58 wmEn b QHE quTd: T8l el urn § |
SIITeR forag 3Tt off 33 € T AT | off 33 W | Uedeh okt e faehreeiiet 397 o
- H Famg s JeY U Hewoqul %ol & | Ueish 391 &l Wid o o0 98 U
TETH-TT & | 5 e AR Wil — S7effel ST oh het-Ger o fe1T Ueh afere aTeeror
— T BT SATEfiTeR wTTeT % fot Ueh T geiten & | T, sre-vrsseel § i vt uh
Gafsd Ug & T T FehouAT W €, TUMY $H YRS AT fohiad hicT & | iR

~
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ST T STTE ST AIHTAYOT Hefel i IUTATT 3720 517 T Yeie o s Tedi STeifteh
It | HiE IR W SFHEd & | Qoad: i S1nta ot 7 fhdt &9 § Siaeht o /idy
Y IO Il & | SR o S 39 YR o 3THA i Scd— i aTet R T &9 F I
AT STH T T THAIGAD T Tl Aok 1ok TSR Wepid o &Il & | UG hal ST & ok
3TN ST 79 Ueh TSA Y URUT R oIl & 59 e 370 Haierirst & fooag 1o
ToTRTIAT b Ueh W feoh YEIST ST o & T 98 gSdTel, TS UGS, €RAT 31 & &9 H Yehe
B & | I ST Fid Ueh FehRIcHeh Gehod=T I el € ST S STl & 3T —
37T TR Ta | o o foT foRieft wifekdat st $Tehet S — ol rod el €; feeh a8
TRTSYUT Uel 370 SirEifiTeh Yy o Wishar Sureafa b off ghad st &, fS51ad ueh S 4 52
TR % S Hell U AT Sca Bidl € S Tholus ediT o fold SR 3R aikomg g € |
3TT: TE:, YT AT WhRICHE 371 | ST Wit ol 37 9 el & T STRTH el 377
VI & 37re ¥ =TS e &; T SiHeh & Trifed fermai o et / veue & e %
Gy o Ueh U et Rl ST R & ST STt o fafaer wa-Refdaat o uid ueh 3= &R
ST, FEEA-FHT S T4 H=1q0T SURTH i 310 T A § |

15. What are the inclusive parts of industrial peace ?
SfENTTeR wifel o T et € 2
16. What are the exclusive parts of the industrial peace ?

SR ST =R GHIed T8l € ?

J-5510
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17. What are the factors responsible for industrial unrest ?

SR 37MiTeT o ShIeh el SRT- T & 2

18. Why the definition of industrial peace is difficult ?
STENTTER 1T 2T TR ST HiaH 1 & 2

19. What are the manifestations of industrial unrest ?

At it forg T g ke gt € 2

J-5510 23 P.T.O.
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